TEST
1




Name: 

Dec 19 2001

Analysis I, Math B1

working time: 45 minutes

There are 4 given options to each question. Any of these 4 options can be false or true. It can happen that all of them are false or all of them are true. Give clear F (false) or T (true) for all options. Your answer to a question is correct if all the four answers are correct.

Put your answers into the proper box of the attached chart.
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3. Even function:
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5. Derivative of the function
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TEST 2

Analysis I, Math B1

Dec 19 2001

working time: 120 minutes

You dont’t have to solve each problem to get 100%. 

The total score in this test is 70 + 14 extra = 84 points. 

Pass level: 28 points.

1. Short questions:

a.) Put down the Cauchy-Schwarz Inequality.

b.) Put down the axioms of ordering.

c.) List the properties of binomial coefficients.












(6 points)

2. Show that the set of  
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(5 points)

3. Given the sequences 
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, (converges to a, where a is a finite number), bn diverges. Answer if the following statements are true or false. Give reason for your answers.

 a.) The sequence 
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  may  converge;

b.) The sequence 
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  may diverge.

















(6 points)

4. Let 




Based on the corresponding definition answer if the function f  is

a.) continuous at 

;

b.) differentiable at  

.







(8 points)

5. a.) Put down the Lagrange theorem with its proof. 

b.) Based on this theorem show that if 

 then 

.











(12 points)

6. Show that 
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(6 points)

7. a.) Put down the  Fundamental Theorem of Integration (Newton Leibniz theorem).



b.) Is it true that if 

 and

 then 

?  

If yes say why, if not, give a counterexample.




(6 points)

8. Solve the equation 
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(6 points)

9. Sketch the graph of  the function 

 . 




(10 points)

10. Find the following limit:













(4 points)

11. Answer if the following vectors lie in the same plane or not: (1;1;0) , (2;-1;1) and ( 4;1;2).












(5 points)

12.  Find the centroid of the semiellipse 

, 

.















(10 points)
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